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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER - I11 « EXAMINATION — SUMMER 16

Subject Code: 3332002 Date: 20.05.2016
Subject Name: Digital Circuits
Time: 02:30 PM TO 05:00 PM Total Marks: 70

Instructions:
Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Answer any seven out of ten. €2(Hil SlEURL Alctotl ellol AL
Convert Decimal number (35)10 to Binary.

31 (35)10 ol cil2éuat3] ML FRAl

Obtain Gray code of (1100101),.

(1100101), oltadet3] of A 81S Hi UiclR 83U,

Convert Binary number (101100), to Octal.

(101100); ¢ll2Aat3] of B2 Ui JUIAR 53,

Draw symbol and logic equation of NAND logic gates.
oS A2 ol Rolld dal Als AHs0L Aul.

Convert (111010)2=(.............. )T CTPT )16.
(111010)2=(.............. 110 =(vrreeeeeeninnnn )16 HL UIAR 83U
Binary Addition (10110); + (11011)p=--------=--=-=--=--- :
oll2et 3l ARl 3. (10110), + (11011),

Convert Gray code(1010011) to Binary number .
(1010011) I 81 of Gll2AAZHL UIcAR 53,

Convert Hexa-decimal (7A6)16 in to Octal.

SSUIUHA (7A6)16 A 52 Ui ¥R,

Convert Binary number (1010011); to Octal.

(1010011); olladet3] of s ML 3UlAR 3.

Draw symbol and logic equation of OR logic gates.

AR 2 ol R1olld de AYs AHs0L Aul.

Why NAND gate is called Universal gate? Build AND, OR gate using
NAND gate.

oS A2 a Al M2 Yolladet Nee seaAML WA B? alos Aeeall Heel

oS, WR e clotlcl..

OR
Why NOR gate is called Universal gate? Build EX-OR gate using NOR
gate.
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ollR B2 ol 2l U2 Yolladd e sdalml A B? ollR Asze{l Heeell

EX-OR &2 oLl
Simplify through k-map F(A,B,C) =Xm( 0,1,2,3,5,6)

K-map o{l He €&l ALEIU WL F(A,B,C) = =m(0,1,2,3,5,6)
OR
Simplify through k-map F(A,B,C) =Zm( 0,3,4,7)

K-map HEEU ALEIU L. F(A,B,C) = =m( 0,3,4,7)
State and Prove De Morgan’s Theorem.
Sl 1 olot ol YN AWl dal A d 53,

OR
Write a short note on J-K flip flop.

J-K scllu $clu UR gsalld vl
Write a short note on R-S flip flop.
R-S scllu sAlU UR gsolld (.

OR
Simplify following logic equation using Boolean —Algebra.
F=A(A’+C) (A’B + C)

ocllatat Aol ol Hee Ul ol Aot AHsR0U of ULEIU WU,
F= A(A’+C) (A’B + C")

Compare Combinational logic circuit and Sequential logic circuit.

sLiolA 2ot As W AlsclatlAA A s URSle ol AuuHe(l 53

OR
Explain full Adder circuit with truth table.

C BsR URBl2 AU 20l UA UHMAL.
Explain full Subtractor circuit with truth table.
5 UGES2R URSLE g Suict A UMl

OR
Draw symbols of AND, OR, NOT & EX-NOR gate.

AND, OR, NOT & EX-NOR g2 ol Ruolld €1RL.
Draw diagram of master-slave J-K flip-flop.

i3 2GR ORI L el AL
'\Ié%tllgllr%eorggle flip-flop.

At SEhbrstboH Al

WvikidrlexRikt note on 4 to 1 Multiplexer.

410 1 HENASUR UR 5ol AVl

OR
Write a short note on 1 to 4 De-Multiplexer.

110 4 SI-HEIASUR UR gsalltl AWl

Explain BCD codes.
BCD $ls tHxicl.
OR
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Perform binary division : 10110 + 10
oLttt 3] eUaUstR s ; 10110 = 10
Write a short note on 3 to 8 decoder.
310 8 SIS1SR UR gsalld Al

OR
Write a short note on any shift register.

slourl As Alge AR UR sl AVl
Write a short note on 4-bit binary counter.
4- ofle olatetdl 51Ge2R vl AUHsLAl.

Write a short note on clocked D-flip-flop.

Clocked D $cllU $AlU UR satld M.

Explain Binary to Gray code Conversion.

oll2letdl ¢ ) 5ls SelclRe’ UMl

Draw circuit diagram of modulo-10 counter.

HISYA -10 51602 ofl A3 stauouH €121,

Implement logic equation in digital circuit F= A(A’*C) +(A’B * C’)
As AHSWU F= AA*C) HA'B * C*) ol [Sed uelse ML ¥4l
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